Solution of Questions

Question 1

Solution of Question

A) 1)

K={x€eZ/-1<x<7}

A = {x€ K/x is an odd number,x > —1}

Or A = {x€ N/x is an odd number}

B = {xe K/x is an even number}

Or B = {xe N/x is an even number,x > 0}

2)

K = {-1,0.1,2,3.45,6.7}

So,if x = —1,then (=1)% < 4 true
if x =0,then (0)? < 4 true

if x=1,then (1)*> < 4 true

if x =2,then (2)® < 4 true

if x = 3,then (3)? < 4 false

if x = 5,then (5)? < 4 false

if x = 6,then (6)? < 4 false

if x =7,then (7)? < 4 false
C={-1,0,1,2}

D={2,3,6}

E={2,3,5,7}

3)

BNnCnD={2}
B={-1,1,3,5,7} andA={1,3,5,7} then

AUB=ANnB=1{0,24,6)}

Card(P(C))=2* = 16 subsets

ANB =1celement = {0}
card P(AnB) = 2°

P(D) = {19},12},13},16},12,3},12,6},{3,6},12, 3,63}

4)

A={-1,0,2,4,6} and B={-1,1,3,57}
card(AnB) = card(AU B)

= card(E — A) + card(E — B) + card(A U B)
9=54+5-1=9 (True)
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B) -5eK ;2€K ; {13, 5} cA ; {0;1}cC ; NcZ
NNZ=N; N'n{0} = @ ; N'U{0} =N
Question 2 Solution of Question
E={x€eIN"/x <8lorE={x€Z/1<x<8}
1) A ={x € E/ x is aprime number}
B ={x € E/ xis an even number and x < 8}
2) C={1,2,5,6}
3) ANnBnNC={2}
card(AnBNC) =1 element
card(P(ANBNC)) = 2! = 2 element {{0},{2}}
4) BuC={1,2,4,5,6}
ANn(BuUuC)={2,5}
A=1{1,46,8)
ANB=4AUB={1,2,3,57,8}
AU B U C={8}
Question 3 Solution of Question

A N B ={5 6, 7}, card (A) = 5, card (B) = 4, A={3, 4, 8} and
B ={1, 2,3, 4}

A= {34,8-A4A={5677,7)}
A={1,2,3, 4} B ={5,6,7,7}
But3and4€ Aand B & 3 and 4 ¢ A and B, then

3and 4 € E
A={1,2,5,6,7}

B={5,6,7,8}

E={1,2,3,4,5,6,7,8}
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